1. FEE AZME W AEHA AMHE
1-1. FEH HZHE
o2 =t Z2 HolL} 2E0[Ct Lte Ho|Ct Of @ LieCt

2 0 1 5 8.7 36.4 333 17.0 47
2 0 1 7 7.8 42.2 29.5 17.0 3.5
< X 9 &g >

A N S 7.9 454 277 16.2 29
B X g9 7.7 38.0 31.7 18.2 43
< 4 H o

=l At 113 447 27.5 133 3.1
o Xt 42 39.7 314 20.8 3.9
< 8 86 4 >

= =S 1.8 16.1 28.6 428 10.7
5 ES 96 404 27.7 18.8 35
il & 8.7 480 30.7 108 17
oH ES 9.8 53.7 29.4 6.3 0.9
< H oA 3H >

= 2 x| 17.1 400 412 17 0.0
HEZHEEE7 11.2 52.3 313 46 06
A g x| 1.5 58.8 313 75 0.8
M H A g Of & 5.8 52.9 31.1 10.2 0.0
s 8 = & 8.5 33.7 34.2 21.7 1.9
NS INAHZEH 45 482 375 9.8 0.0
B 2 2O 5.9 36.4 37.1 19.1 15
2% 8 F B 2.7 31.9 304 28.0 7.0
7| E} 15.4 36.4 17.6 22.6 8.0
< o =H 4w

15 ~ 19 N 29.2 54.9 11.9 40 0.0
20 ~ 29 A 216 50.2 20.2 6.7 13
30 ~ 39 A 6.1 58.8 27.7 6.4 1.0
40 ~ 49 A 6.5 480 37.0 76 1.0
50 ~ 59 A 41 423 34.6 16.4 26
60 M 0o & 1.9 237 29.7 36.1 8.7
65 A o & 1.0 17.0 29.3 428 9.9
<HMe BRE>

B 5 F H 6.0 27.2 325 26.9 75
Ot ot E 76 458 283 15.8 25
oa g F = 0.0 22.7 419 17.2 18.2
Ct Ml of = & 0.0 19.2 37.0 437 0.0
7| E} 23.0 36.0 41.1 0.0 0.0
<7t EHFLE>

100 ¢+ @ o gt 2.7 19.3 23.6 413 12.9
100~200 2t & O] gt 9.1 383 34.2 15.7 27
200~3002H Oj ot 8.4 45.0 314 143 0.9
300~4002H O] 2F 10.1 52.1 309 6.9 0.0
400~5002t 9 O] 2F 6.0 474 38.8 7.8 0.0
500~600 2+ O] 2F 11.9 36.8 442 7.1 0.0
600~700 2H- O] ot 5.1 785 16.4 0.0 0.0
700 o @ O ¥ 49 63.5 27.5 40 0.0
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1-2. AEHA QA ™

CHEHs| Bo] =71ct ol 7| Holct X3 L7l= "ot Aol =X| ge=Ct

2 0 1 5 6.2 29.1 51.3 134
2 0 1 7 48 22.0 57.5 15.7
< X 9 &g >

A N S 37 20.5 59.3 16.4
B X g9 6.2 23.8 55.2 147
< M Ho

=l At 40 233 56.6 16.2
o N 5.7 20.6 58.5 15.2
< 8 86 4 >

= = 79 184 52.0 21.7
5 ES 5.7 20.5 56.3 175
in] = 4.1 21.8 59.7 144
CH ES 3.2 254 59.2 12.2
< H oA H >

2 2 x| 0.0 26.0 62.6 113
HEZHEHE7 26 24.8 56.3 163
At g | 2.5 20.6 71.8 5.2
M B A foof F 54 274 56.3 109
s 8 = & 1.1 9.2 58.9 30.8
NS INAHZEH 43 22.9 56.9 15.8
B 2 2O 43 19.1 62.8 13.8
? 3 F B 76 173 59.1 16.0
7| E} 5.6 257 51.0 17.7
< o =H 4w

15 ~ 19 N 4.1 24.7 59.0 123
20 ~ 29 A 29 25.5 63.2 8.4
30 ~ 39 A 36 23.8 61.4 11.2
40 ~ 49 A 48 275 56.9 10.9
50 ~ 59 A 43 22.1 57.0 16.6
60 M o & 6.9 15.6 53.4 24.1
65 A o & 79 16.0 50.4 25.7
<HMe BRE>

B 5 F H 6.8 18.8 51.0 235
Ot ot E 40 23.1 56.7 16.2
oa g F = 18.2 12.6 69.2 0.0
Ct Ml of = & 8.4 224 63.4 5.8
7| Ef 0.0 376 286 33.8
<7t HERLSE>

100 ¢t @ O gt 9.8 19.4 493 215
100~200 2t & O] gt 44 22.8 51.0 219
200~300 T+ Of 2t 2.2 17.7 62.8 173
300~4002H O] 2F 14 26.0 60.3 12.3
400~5002t 9 O] 2F 5.2 20.7 58.8 15.4
500~600 2+ O] 2F 6.5 19.9 487 24.8
600~700 2H- O] ot 14.6 23.5 54.8 7.1
700 o @ O ¥ 0.0 34.8 494 15.9
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2. B0 3|Y 2555 U Hast MsA|HE
2-1. Y 2EFE=

ZHEtsl

25 AKX T

(U 27 Sl A A0 s 2 X M= &5 _:-ﬁl

Az, | gar| 0| TR wa | oo | e | g | L]

z47 24 S

S)

2 0 1 5[ 20.1 24.0 13.0 10.7 12.1 3.1 39 33 7.4 17 06
2 0 1 7] 21.8 237 121 12.1 11.2 3.5 5.8 2.8 5.3 0.8 1.0
< X 9 &g >
A Y ol 277 224 117 123 9.1 3.4 43 22 5.7 06 0.8
B X 9l 141 25.4 126 11.9 139 38 77 35 48 1.1 1.2
< 4 oo
=l XH 135 20.4 16.7 77 17.1 0.1 9.0 35 10.0 14 0.7
o XH 30.1 27.0 75 16.5 53 7.0 26 2.0 06 0.2 12
< & 75 & >
= Z| 354 472 17 6.1 44 13 13 0.0 0.8 0.2 15
5 E| 272 21.1 113 12.2 10.6 3.4 6.6 3.1 4.1 0.0 0.4
in] = 191 19.4 12.8 124 14.6 4.1 6.6 2.8 6.0 17 05
oH E| 129 14.4 18.8 16.0 11.9 45 73 4.4 8.0 0.5 1.5
< 3 o 8 >
= 2 x| 78 15.4 20.8 10.5 103 0.0 75 6.5 213 0.0 0.0
MEILETEIH 147 114 18.9 15.9 96 45 6.0 43 104 15 2.8
A g x|l 222 11.5 136 16.4 173 6.2 43 1.0 5.6 0.0 2.0
A B A =oOf = 167 179 15.0 15.0 16.6 44 5.7 39 33 13 03
s 8 = & Z 327 304 104 49 137 06 42 1.0 1.0 0.0 1.1
IS, 7| AZELl 125 18.9 16.7 104 20.5 0.0 10.9 37 6.4 0.0 0.0
o2& = 2 X 206 35.2 13.1 8.8 10.7 35 1.6 0.0 5.7 0.0 0.7
723 F Rl 319 35.1 44 137 5.0 5.5 1.6 17 03 0.0 0.8
7| Etl 21.0 234 11.1 9.9 7.0 2.7 95 3.4 8.8 2.1 1.1
< 94 ¥ ¥ >
15 ~ 19 Ml| 165 7.1 14.5 14.2 1.5 4.0 15.7 5.0 184 3.1 0.0
20 ~ 29 M| 96 77 26.1 127 24 54 85 36 174 43 2.4
30 ~ 39 M| 184 16.9 177 16.4 47 5.0 8.2 5.3 6.6 0.5 0.5
40 ~ 49 M| 184 13.2 157 17.0 16.9 53 52 38 39 0.0 0.7
50 ~ 59 M| 210 24.2 83 126 20.2 2.7 5.7 2.4 2.1 0.0 0.8
60 A o | 319 436 33 6.1 10.2 13 1.8 03 0.2 0.2 1.2
65 A o 4] 330 49.1 17 6.2 6.3 0.5 1.1 0.2 0.0 0.2 1.5
<HMe BRE>
5 F E| 255 32.0 104 6.6 163 06 49 06 19 0.2 1.1
ot o} E| 181 244 11.1 114 147 14 6.0 33 78 1.1 0.7
A 7 F  Ef 209 21.6 95 10.5 30.2 0.0 0.0 7.4 0.0 0.0 0.0
C M of = | 51 95 12.9 9.7 29.0 7.0 21.8 5.1 0.0 0.0 0.0
7| EH 0.0 19.0 13.0 0.0 10.8 0.0 18.6 0.0 0.0 23.0 15.6
<7t HERLSE>
100 g+ @ O] g 357 426 47 5.6 7.0 0.2 17 0.0 06 0.9 0.9
100~2002H@ O] 2H 19.2 244 13.7 10.1 15.6 1.8 32 17 8.0 15 0.9
200~3002H¢ O/ 2 128 19.7 11.9 117 19.1 1.5 137 1.2 6.3 0.0 2.0
300~4002F 2 Oj3H 12.2 22.0 14.4 9.1 21.0 2.0 5.1 5.0 6.7 25 0.0
400~5002t9 O/ 126 133 15.7 7.2 24.5 0.9 10.9 6.1 75 0.0 13
500~600 2+ O] 2H 16.2 16.8 8.2 20.1 18.8 1.8 0.0 8.1 10.1 0.0 0.0
600~7002HR O] 2 7.0 7.1 9.5 16.4 25.6 0.0 19.7 5.1 95 0.0 0.0
700 ¢t @ O & 28 17.1 213 22.2 24.0 0.0 49 27 5.1 0.0 0.0
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2-2. Qs HSAM
— 27|
=y X
B PN S e (BZ= =78 =X | S 1E B = =R=1P 3 E= Cta2q ELREH| 7|E}
R I mﬁ;) v I B = 1= PN Bl = =1 b ;I-‘TL e

ASH =2
2 0 1 5| 17.7 1.7 2.3 6.6 13 19 6.5 1.7 242 323 2.4 14
2 0 1 7] 19.0 0.9 2.0 6.2 1.5 0.8 5.2 1.7 291 293 27 1.6
< X 9 &g >
A Y 9| 227 0.7 14 5.2 1.1 0.8 47 13 311 275 20 16
B X 9l 142 12 2.7 76 2.0 038 5.8 2.3 265 317 36 1.7
< M Ho
=l XH 147 13 24 12.2 2.8 14 6.3 1.5 251 278 2.8 1.8
o X 234 06 16 0.2 0.1 0.2 4.1 19 332 308 2.7 14
< 8 86 4 >
= Z| 108 0.2 0.7 1.0 04 0.2 038 0.2 425 405 15 12
5 Z| 185 0.9 038 5.1 1.7 1.6 5.6 1.0 240 342 5.0 1.5
in] Z| 201 1.1 15 8.0 14 04 7.0 2.7 288 255 24 1.1
CH Z| 235 13 4.1 8.2 2.2 13 5.6 1.8 230 238 2.7 26
< H oA H >
2 2 x| 251 5.9 19 13.5 73 0.0 3.7 0.0 278 110 3.8 0.0
MEZLE™E7H 220 0.7 53 9.8 1.7 2.2 6.4 2.1 168 255 39 35
A g x|l 185 0.0 5.6 7.0 0.0 0.0 3.8 0.0 339 291 2.2 0.0
M H A g oof 2| 263 1.1 24 47 07 04 6.7 13 255 278 22 0.8
s 8 = 4 F| 52 0.0 0.0 6.9 0.0 0.0 43 0.0 374 438 13 1.1
59, 7| A =ER| 150 29 1.5 8.7 6.5 038 42 18 230 283 48 24
oo = 2 X 200 18 0.0 75 33 1.0 2.1 0.9 313 289 2.5 0.7
"3 F 2| 200 0.4 15 0.5 0.0 03 3.0 18 397 306 09 12
7| Et| 16.8 03 1.1 8.8 1.0 1.5 77 33 249 280 41 2.5
< o d 3 >
15 ~ 19 AMl| 187 1.2 1.5 15.8 2.9 40 8.1 3.9 172 154 8.1 3.2
20 ~ 29 M| 182 05 3.0 16.9 0.0 0.0 10.1 54 152 255 1.1 4.1
30 ~ 39 M| 246 1.0 0.9 76 3.0 1.9 49 2.3 299 187 47 0.5
40 ~ 49 M| 231 1.9 34 5.9 3.0 1.0 74 18 252 220 24 2.8
50 ~ 59 Al 200 0.7 2.5 35 1.1 0.0 5.6 0.7 281 338 36 0.3
60 A o 4| 132 0.4 1.0 13 03 03 1.1 0.1 399 407 038 09
65 A o | 117 0.2 06 06 0.3 0.4 0.9 00 424 414 05 1.1
<HMe BRE>
o5 F B4 127 16 1.5 49 0.7 0.7 2.2 0.2 339 383 1.6 1.7
ot o} El 174 07 2.1 8.2 2.8 0.7 58 12 308 248 41 15
A 7 F=  E 00 0.0 6.2 0.0 0.0 0.0 74 0.0 118 745 0.0 0.0
Ch M Cf = EH 97 0.0 0.0 46 5.1 0.0 18.0 0.0 171 371 8.4 0.0
7| EH 186 0.0 15.6 0.0 0.0 0.0 0.0 338 225 9.5 0.0 0.0
<7t7 HEAAS>
100 2t ¥ o] gH 109 0.0 13 13 0.4 0.3 2.4 1.2 39.8 403 14 0.7
100~2002t @ O 2t 163 1.2 0.0 83 2.9 04 43 18 31.8 289 15 2.8
200~300 2t O] 2t 177 13 1.2 11.3 2.0 13 3.4 06 325 211 6.3 1.2
300~400THQ O] 2H 15.1 1.9 23 10.3 23 0.9 5.9 0.5 308 254 2.7 1.8
400~5002t 9 O/ T 138 13 6.9 6.6 038 0.0 9.0 1.5 208 324 5.2 1.5
500~6002F O] 2t 26.3 0.0 6.7 10.1 9.1 0.0 8.0 0.0 107 258 34 0.0
600~7002H O] 2 17.1 0.0 0.0 6.9 9.5 0.0 5.1 0.0 121 303 9.5 95
700 Tt @ O & 248 5.1 49 0.0 0.0 44 12.9 0.0 6.8 383 2.8 0.0
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3. MI|Hel 2T dlr Y FoF 2FA|ZH
3-1. 7|18 23HE
0| T Ao %‘—’F%‘Oﬂ ‘OI-’F%'OH ‘EF%* | A2
FHH S SHH Y= St Y SHH Y= SHX| f=Ct

2 0 1 5 15.2 25.7 12.2 33 48 38.8
2 0 1 7 12.6 28.5 16.9 3.9 3.1 35.0
< X 9 &g >
A N o 10.1 304 20.2 38 2.3 33.2
B X g9 15.9 26.0 125 39 42 374
< 4 oo
=l At 12.1 30.2 193 46 36 30.1
o N; 13.1 26.8 144 32 2.7 39.9
< &% 75 & >
= = 15.1 204 79 17 26 523
5 ES 137 27.1 11.8 40 17 418
in] = 12.7 29.5 213 44 39 283
oH ES 10.2 33.6 20.1 46 33 28.0
< 3 o & >
= 2 x| 6.8 323 314 0.0 0.0 29.5
HEIEHETL 117 39.1 23.0 35 19 20.7
A g x| 79 343 24.9 2.8 36 26.5
M H A g Of & 14.0 239 18.9 35 39 35.8
s 8B = & F 6.0 19.3 12.2 49 24 55.1
Isd 7A=Y 44 23.2 25.7 8.6 6.1 32.0
o & & 2 F 135 343 125 6.1 3.8 29.8
2% 8 F B 16.8 28.2 9.9 39 2.7 383
7| Ef 15.4 29.8 14.6 1.9 24 36.0
< o d 3 >
15 ~ 19 N 10.5 344 18.2 2.7 1.6 32.5
20 ~ 29 A 8.0 27.1 19.0 7.1 6.0 32.8
30 ~ 39 A 75 32.6 224 1.8 37 31.9
40 ~ 49 A 10.5 283 242 5.1 2.4 29.5
50 ~ 59 A 13.1 29.8 18.9 5.0 36 29.6
60 M o & 184 24.6 7.1 24 2.3 451
65 A o & 18.9 21.0 6.6 2.0 29 487
<HMe BRE>
B 5 F H 13.1 20.9 13.2 36 4.1 452
Ot ot E 13.0 335 20.1 38 34 26.2
oA 7y F e 12.8 19.1 22.8 0.0 0.0 454
ot M O = e 14.8 50.7 0.0 0.0 5.1 29.4
7| E} 22.5 48.1 186 10.8 0.0 0.0
<7t HERLSE>
100 ¢+ @ o gt 16.3 26.6 96 0.7 2.4 445
100~200 2t & O] gt 11.9 26.5 14.1 6.1 83 33.1
200~3002H O] gt 114 29.3 26.2 6.9 36 22.6
300~4002H O] 2F 104 26.0 219 5.0 27 34.0
400~500 29l O] gt 13.0 36.9 23.1 13 0.0 25.6
500~600 2+ O] 2F 17.2 274 16.8 0.0 34 35.0
600~700 2H- O] ot 14.6 480 23.5 0.0 0.0 13.9
700 gt @ of & 7.6 48.7 17.9 49 34 17.6
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=
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1A|Zt Ojgt 1~3A|2h Ojgt 3~5A|Zt O]t 5~7A|Zh Ojgt 7AIZE Ol &

2 0 1 5 57.1 26.4 8.7 40 3.8
2 0 1 7 63.1 23.4 6.4 3.4 3.8
< X 9 EH >

A N o 64.7 204 74 36 3.9
B X g9 60.9 273 5.2 3.1 36
< M HE=I >

= Xt 57.5 26.6 7.4 3.7 49
o N; 68.7 20.2 5.5 3.0 2.6
< & 75 & >

= = 78.7 10.7 52 2.8 26
5 ES 67.3 20.6 5.9 3.2 3.1
in] = 58.0 28.1 55 40 44
CH ES 56.5 27.7 8.7 3.1 4.1
< 3 o 8 >

2 2 x| 409 25.9 31.0 0.0 2.2
HEIEHETL 439 34.8 103 55 5.6
At g | 60.2 26.1 73 0.7 5.7
M B A foof F 66.5 21.6 5.1 34 34
s 83 = & F 78.1 12.7 4.4 2.1 27
NS INAHZEH 59.0 30.1 75 09 25
B 2 2O 63.9 18.4 46 9.1 40
? 3 F B 65.6 214 6.2 33 36
7| E} 65.0 234 43 34 3.9
< o =H 4w

15 ~ 19 N 63.0 24.9 6.8 40 13
20 ~ 29 A 57.3 30.5 7.2 24 25
30 ~ 39 A 65.7 23.9 3.8 1.8 49
40 ~ 49 A 57.2 27.4 8.2 47 25
50 ~ 59 A 584 273 73 1.9 5.1
60 A o ¥ 70.7 15.1 56 45 40
65 A o & 73.0 13.6 5.0 48 3.4
<HMe BRE>

B 5 F H 67.6 203 5.6 2.6 3.9
ot o} E 59.2 22.9 85 46 49
oA 7y F e 64.7 32.0 33 0.0 0.0
Ct Ml of = & 48.0 16.6 5.1 15.5 14.8
7| E} 95 90.5 0.0 0.0 0.0
<7t7 HEEAS>

100 ¢+ @ o gt 75.2 12.0 5.9 43 26
100~200 2t & O] gt 66.3 204 3.8 6.2 34
200~300 2+ O 2t 52.1 332 77 2.6 44
300~4002H O] 2F 59.9 25.2 47 29 74
400~5002t 9 O] 2t 52.5 27.2 134 3.1 3.9
500~600 2+ O] 2F 513 227 12.5 29 10.6
600~700 2H- O] ot 285 447 19.7 0.0 7.1
700 o @ O ¥ 26.1 40.0 224 2.8 8.7
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4. 2|5 AE2| S|z MH|A THFE 5 FT0|F
4-1. °|B7| 0|8 BHEE

= £ 9| as

olz 0|83t 0|2 7|2 dzAH|A BEE | oz 018

712 R X1t [stolgl 712 | o

18 |y | BEEC | @i |wzia| orm | oier | o | s | o | o1 | 7

SELE e | ay

2 0 1 5[ 804 1000 180 69.7 57 2.3 1.8 2.6 00 563 354 83 1.9 177
2 0 1 7|1 80.5 100.0 209 68.2 43 2.5 1.7 2.4 0.0 579 311 111 1.7 178
< X 9 &g >
A N 9| 889 1000 188 716 35 1.0 1.7 34 00 566 318 116 16 9.5
B X 9l 696 1000 243 626 57 5.0 1.7 0.7 00 600 298 102 19 285
< 4 H o
= At 779 1000 226 668 47 1.9 14 2.6 00 544 334 122 15 207
o Xt 83.1 1000 193 696 40 3.1 2.0 2.2 00 611 289 100 20 149
< % o8 >
EN Z|( 884 1000 223 716 1.1 15 35 0.0 00 727 242 31 2.3 9.3
£l Z| 753 1000 213 683 60 1.7 0.9 1.8 00 595 330 74 23 224
ni Z| 765 1000 19.7 682 5.1 2.8 0.5 37 00 522 347 131 24 211
CH Z| 829 1000 209 659 50 33 2.1 2.9 00 529 308 163 03 16.8
< 3 o & >
2 Gl Al 775 1000 253 662 85 0.0 0.0 0.0 00 375 448 177 00 225
ME7LEHE7H 886 1000 263 591 6.4 4.1 0.5 35 00 541 346 113 04 109
At £ 773 1000 214 678 5.1 0.8 33 15 00 436 335 230 00 227
M H A g of & 772 1000 169 722 28 4.2 1.9 2.1 00 609 271 120 15 213
S @ == & 2|85 1000 175 780 00 0.0 4.5 0.0 00 680 263 5.8 1.8 157
s, 7| A X% 797 1000 159 704 37 2.2 2.6 5.2 00 422 392 186 16 187
Bt &= = §F %834 1000 253 673 2.5 2.5 0.0 2.4 0.0 546 328 126 47 11.9
2% F EH|862 1000 201 734 23 1.8 14 1.1 00 652 272 76 2.1 11.7
7| EH 743 1000 238 598 88 2.8 1.2 3.6 00 600 323 7.7 19 238
< o =5 49 5
15 ~ 19 M| 623 1000 284 494 142 00 0.0 79 00 393 466 141 13 36.4
20 ~ 29 M| 691 1000 224 506 177 34 0.8 5.1 00 570 3441 9.0 16 293
30 ~ 39 AMl[ 796 1000 169 726 1.0 3.0 2.9 35 00 464 390 146 1.5 19.0
40 ~ 49 AMl[81.0 1000 209 705 28 2.7 04 2.8 00 467 327 206 1.2 17.8
50 ~ 59 Ml[ 796 1000 21.1 69.3 2.9 3.6 1.3 1.7 00 602 297 101 2.0 18.4
60 Al 0 #4895 1000 212 723 20 1.6 2.7 03 00 712 240 48 2.2 8.4
65 Al O 4 909 1000 224 716 1.2 1.3 35 0.0 00 736 222 42 2.5 6.6
<HANe ZHHE>
Bt 5 F Ei 842 1000 245 677 2.9 1.5 2.7 0.7 00 682 262 5.6 1.7 14.2
of ot E| 850 1000 233 665 33 3.1 1.6 2.1 00 564 294 142 19 132
o g = H718 1000 259 622 00 4.6 0.0 7.3 00 339 568 9.3 00 282
Ch M CHf == E4] 738 1000 69 793 69 6.9 0.0 0.0 00 442 496 6.2 00 262
7 EH 100.0 1000 481 41.1 0.0 0.0 0.0 108 0.0 563 437 00 0.0 0.0
<7t7 HEAAS>
100 B+ @ O] o 897 1000 249 67.8 1.2 3.1 2.5 04 00 733 227 3.9 1.9 8.4
100~2002t @ 0|2 800 1000 233 648 68 04 2.1 2.5 00 646 268 85 14 186
200~300TH@ O/ 2 80.5 100.0 20.1 65.1 49 57 0.7 34 0.0 519 344 137 33 16.3
300~400THQ O] 2H 834 1000 194 694 19 1.8 38 3.6 00 555 313 131 04 162
400~500 2t O 2H 844 1000 221 728 3.8 1.3 0.0 0.0 00 416 411 174 1.5 14.2
500~600THR O|8FH 797 1000 301 677 0.0 2.2 0.0 0.0 00 460 266 274 22 18.1
600~700 2 O/ 2t 929 1000 282 663 0.0 0.0 55 0.0 00 210 486 304 00 7.1
700 ¢t @ O 4 882 1000 554 446 00 0.0 0.0 0.0 00 616 241 143 00 118
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Az g oz i)
NI T2zt Aldo] | ojMem |HME oF
SHE | GARET g | sga | BEWH Let | ngs | ormo | ol
StCk H| AT — " AlZto] o
o5kt | kot act EALE | (EMS) | BFStT
OjH[StC} | 3ol BhC

2 0 1 5/ 132 173 23.8 12.1 137 9.4 49 5.5 0.0
2 0 1 71 149 9.3 13.3 10.3 19.1 14.0 6.1 13.0 0.0
< X 9 &g >
A x| 9l 131 8.9 11.5 11.8 14.2 184 7.0 15.2 0.0
B X ol 183 10.2 16.6 7.4 28.5 5.7 4.4 89 0.0
< 4 H o
=l X 154 8.7 13.2 79 177 13.1 8.7 154 0.0
of XH 144 10.1 134 13.1 20.8 15.0 3.0 10.2 0.0
< & 75 & >
= Z| 144 26.9 6.4 0.0 215 24.1 6.7 0.0 0.0
5 =l 159 53 21.8 15.1 30.0 11.9 0.0 0.0 0.0
in] Z| 146 45 15.6 73 16.6 16.8 8.5 16.1 0.0
CH Z[ 150 124 10.1 135 18.8 104 5.0 14.8 0.0
< 3 o 8 >
2 2| x| 267 0.0 26.7 0.0 0.0 0.0 46.7 0.0 0.0
MEZ7EHE7H 226 5.9 20.3 0.0 18.0 187 0.0 144 0.0
A g = 103 5.0 0.0 20.3 22.6 9.8 127 19.4 0.0
M H & =Of A 127 139 19.5 13.1 183 7.0 0.0 155 0.0
s 8 = & I 99 125 137 0.0 30.9 13.1 19.8 0.0 0.0
IS 7A=Yl 167 0.0 185 0.0 10.8 38.2 48 11.2 0.0
oo = B O 96 275 5.9 0.0 455 0.0 0.0 115 0.0
728 F OB 191 12.0 139 9.3 122 103 42 19.0 0.0
7| B 117 8.5 6.6 283 21.0 11.9 6.0 6.0 0.0
< o =H 4w
15 ~ 19 M| 175 0.0 15.1 30.1 187 187 0.0 0.0 0.0
20 ~ 29 M| 89 0.0 20.7 20.7 39.4 0.0 0.0 103 0.0
30 ~ 39 M| 233 40 6.3 103 14.8 11.5 4.0 25.8 0.0
40 ~ 49 M| 147 119 146 9.8 10.7 174 6.9 14.0 0.0
50 ~ 59 M| 55 11.2 16.6 48 32.3 113 48 134 0.0
60 M o 4| 176 174 106 38 19.3 174 13.8 0.0 0.0
65 A o & 199 20.8 9.9 5.6 20.0 15.3 8.5 0.0 0.0
<HMe BRE>
o5 F  E| 225 38 29.9 0.0 117 12.8 137 5.7 0.0
of ot El 111 9.9 8.8 56 22.6 154 56 20.9 0.0
oA 7 F E 00 488 0.0 0.0 51.2 0.0 0.0 0.0 0.0
Ct Ml of = Ei 00 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| EH 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<7t HERLSE>
100 g+ & O] 2 86 18.0 13.0 12.9 154 16.0 6.2 9.8 0.0
100~2002t@ O]2H 0.0 27.6 13.2 0.0 59.2 0.0 0.0 0.0 0.0
200~3002H O/ 2 163 136 22.7 0.0 15.3 12.0 0.0 20.1 0.0
300~400TH O/ 2 206 5.0 0.0 7.8 30.5 20.8 7.1 8.2 0.0
400~5002t9 O/ 209 0.0 0.0 9.1 0.0 21.0 28.8 20.1 0.0
500~6002F O/ 2 0.0 0.0 13.2 0.0 0.0 29.7 0.0 57.1 0.0
600~7002H O/ 2H 0.0 0.0 66.2 0.0 33.8 0.0 0.0 0.0 0.0
700 ©F @ O | 403 0.0 0.0 0.0 0.0 0.0 193 403 0.0
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5 o aj
. T x
*E 7|
RYE B fYds Ho rH A

2 0 1 5 448 10.0 2.4
2 0 1 7 54.9 11.1 0.6
< X 9 &g >

A x| o 544 103 06
B X o 55.4 11.8 06
< 4 H o

=l At 50.7 11.0 06
o Xt 63.2 11.2 0.6
< &% 75 & >

= =S 76.9 125 06
5 S 68.2 117 0.3
in] S 487 103 06
CH E 28.9 75 1.0
< 3 o & >

2 2| eS| 30.0 47 0.0
HEZHEHE7 37.6 9.0 0.5
A g | 32.8 6.7 1.2
M H A g Of & 403 10.9 06
s 8B = & F 63.2 10.7 04
NS INAHZEH 38.1 9.7 0.2
B 2 2O 57.1 9.4 0.1
? 3 F B 776 117 0.7
7| E} 73.1 13.1 09
< o =H 4w

15 ~ 19 N 50.0 1.0 0.0
20 ~ 29 A 23.1 45 0.0
30 ~ 39 A 28.0 75 1.2
40 ~ 49 A 31.1 7.1 1.1
50 ~ 59 A 489 9.8 0.5
60 M o & 73.2 124 0.5
65 A o & 785 12.7 0.6
<HMe BRE>

B 5 F H 65.2 114 0.7
ot ot E 472 106 0.5
A4 8 F H 52.2 13.0 0.0
Ct Ml of = & 58.8 11.1 1.0
7 E} 143 10.0 0.0
<7t HERLS>

100 ¢t @ O gt 73.1 12.5 0.6
100~200 2t & O] gt 55.1 11.0 0.5
200~300 7+ Of 2t 43.0 9.6 0.9
300~4002H O] 2F 397 10.8 04
400~500FH@ O] 2t 39.2 7.0 0.2
500~6002F O] 2F 37.8 7.8 03
600~700 2l O| ot 30.8 6.0 06
700 o @ O ¥ 40.0 8.0 1.2
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5-2. X2
az | B2 zwwa | wepn | ] PUE D waa | 1 g
= lxaz DA | GHEHR) (eHo| &)
Tlas o[22 0222 0 |22 | aa [ 22 | e |22 | 0a | 22 | 0a | 22
Xt X2 Xt X2 Xt X2 Xt X2 Xt X2 Xt X2 Xt x| =2
U U U= U= U= R R
2 0 1 51978 98 176 133 634 103 18 68 53 53 46 61 71 36 02 210
2 0 1 7(99.3 107 221 115 693 105 36 23 32 34 24 134 91 34 01 20
< X 9 & >
A x| (1000 104 193 120 688 100 39 24 21 26 45 133 71 57 03 20
B X oll986 109 248 111 696 110 33 22 42 37 06 140 109 20 00 00
< M HE=I >
=1 XH 997 107 217 113 703 106 30 16 24 36 24 140 88 36 00 00
of Xt 986 106 229 119 671 103 48 32 48 31 26 122 95 30 04 20
< &% 75 & >
e Z|991 119 214 116 736 115 14 45 29 34 33 140 101 32 00 00
= Z|989 116 220 114 715 113 08 10 24 17 49 140 65 34 00 00
inl Z|1000 98 234 122 647 97 64 21 32 39 00 00 110 39 00 00
CH Z|985 73 215 94 633 74 76 13 51 38 25 85 38 20 13 20
< 3 o & >
o | Xl[1000 43 167 70 667 45 00 00 167 10 00 00 00 00 00 00
MEZ, ZFE7H1000 85 190 89 643 91 71 13 24 20 71 103 71 17 00 00
At 2 Xl[1000 65 136 83 682 68 45 10 136 43 00 00 00 00 45 20
M H A~ T of &|1000 106 178 131 733 102 44 15 33 27 11 140 89 54 00 00
5 2 £ A Z|9g6 103 186 88 745 98 39 45 00 00 39 140 127 48 00 00
s, 7| A ==%211000 97 179 83 696 109 71 23 18 20 18 140 89 18 00 00
Ch & L+ 2 Zf1000 93 190 123 651 98 95 27 63 25 00 00 95 25 00 00
3 = Hl975 112 213 120 740 109 16 10 47 35 08 140 79 31 00 00
7| Ef{1000 125 309 127 638 120 05 10 16 57 37 140 96 28 00 00
< 9 # 4
15 ~ 19 M|{1000 10 00 00 00 00 1000 10 00 00 00 00 00 00 00 00
200 ~ 29 M|[1000 45 167 10 83 52 00 00 00 00 00 00 00 00 00 00
30 ~ 39 AM||1000 76 294 65 676 70 29 30 29 140 00 00 29 140 00 00
40 ~ 49 Ml[981 68 209 102 567 65 75 26 30 35 15 30 209 29 15 20
50 ~ 59 M|1000 94 212 112 652 99 91 16 53 26 08 140 91 26 00 00
60 A 0] Af[992 119 221 124 724 115 13 35 26 29 33 140 79 36 00 00
65 M O] &[990 121 229 124 725 116 11 45 24 31 35 140 85 31 00 00
<HMe BRE>
b &5 ZF Ef{989 111 241 115 696 106 31 27 20 16 37 132 82 42 00 00
o} o} E|996 101 206 115 686 103 41 19 38 34 10 140 105 27 03 20
o 2 ZF=  EH1000 130 231 97 692 140 00 00 77 140 00 00 00 00 00 00
Ct M Cf = E4{1000 109 67 140 733 115 67 20 133 40 67 140 00 00 00 00
7 Ef{1000 80 00 00 1000 30 00 00 00 00 00 00 1000 50 00 00
<7t HERLSE>
100 2t & 0O BH996 118 252 123 690 115 15 38 27 32 33 140 85 23 00 00
100~2002t2 O/2H 980 109 205 103 748 104 16 15 31 23 16 140 142 52 00 00
200~3002H¥ O|2H1000 94 185 113 685 102 76 26 22 20 00 00 54 16 11 20
300~4002t2l O/ TH1000 100 174 121 696 103 72 18 43 60 14 140 101 11 00 00
400~5002t% O/ 31000 69 71 80 738 74 95 13 48 30 00 00 48 140 00 00
500~6002F2 O/2H 929 86 316 93 632 73 00 00 105 40 00 00 158 43 00 00
600~7002H9 O|2H1000 60 200 30 600 83 200 20 00 00 00 00 00 00 00 00
700 Bt 2 O] 1000 80 462 112 231 17 77 10 00 00 231 103 00 00 00 00
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6-1. ZZHEd=s R
o o mojct | Mger molct | Xe mMolct o= d=HER
%2 HolCt eH N

2 0 1 5 9.9 39.5 20.5 1.1 0.4 28.6
2 0 1 7 6.8 35.8 31.8 1.0 0.6 24.0
< X 94 &8 >

A X o 5.4 31.7 396 13 0.4 21.7
B X > 8.1 39.6 246 0.8 038 26.2
< M H oo

= N} 7.8 407 32.7 0.9 0.3 175
o N 47 26.1 30.0 12 12 36.8
< 8 3 4 >

e =S 34 15.0 24.8 1.7 14 537
= =S 3.8 35.6 31.1 0.0 038 28.8
inl = 7.1 440 36.3 12 0.0 115
| Z 12.3 50.2 345 0.4 04 2.1
< F o & >

o 2| x| 20.0 25.0 45.0 0.0 0.0 10.0
HEE™ETL 14.1 51.8 31.8 0.0 0.0 2.4
At £ x| 6.6 492 426 1.6 0.0 0.0
M H A gof A 8.8 514 315 06 1.1 6.6
s 8 5= & & 26 29.1 274 0.0 0.0 41.0
NS 7N A=A 93 492 373 17 0.0 25
o= L 2 OF 83 345 26.2 36 1.2 26.2
27 3 F 2 33 145 27.0 0.0 13 539
7| E} 33 23.6 33.0 16 0.5 379
< o & 49 >

15 ~ 19 A 0.0 0.0 50.0 0.0 0.0 50.0
20 ~ 29 A 0.0 423 462 0.0 0.0 115
30 ~ 39 A 9.0 44.0 430 1.0 0.0 3.0
40 ~ 49 A 12.6 497 34.1 1.8 06 1.2
50 ~ 59 A 12.1 439 32.7 0.0 0.9 103
60 A o & 23 25.3 274 1.2 06 432
65 M o & 2.1 20.2 253 16 0.8 50.0
<HHMe ZERE>

5 5 F H 5.9 319 253 0.9 0.0 35.9
of ot E 7.7 38.7 35.7 1.1 1.1 15.7
A B oF= o= 0.0 39.1 478 0.0 0.0 13.0
ot M of = &= 11.8 35.3 412 0.0 0.0 11.8
7| = 0.0 429 57.1 0.0 0.0 0.0
<77 dEAAE>

100 g+ @ o @ 0.8 16.9 29.2 14 1.1 50.6
100~200 2t & O] gt 8.6 395 33.0 0.5 0.5 17.8
200~300 2+ Oj 2t 6.7 436 40.0 0.6 0.6 85
300~4002H O] 2t 5.9 55.1 33.1 15 0.0 44
400~500 2@ O] 2t 12.7 53.2 304 13 0.0 25
500~600 2t O] 2t 216 459 27.0 0.0 0.0 5.4
600~7002F- O] gt 23.1 53.8 23.1 0.0 0.0 0.0
700 gt @ o & 36.0 44.0 16.0 0.0 0.0 40
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6-2. o|=H|o| HLEHT

OfF - - o
_ | Ho|C} 2Eo0|Ct M mo|Ct o
H| 4+ T Oo|C} 2 Ho|ct

2 0 1 5 2.5 27.5 60.4 8.5 1.1
2 0 1 7 2.5 21.1 60.9 14.0 1.5
< X 9 4 >
A N o 2.1 17.7 64.6 14.0 17
B X > 29 24.2 57.5 14.0 13
< M tél S
= N} 23 23.2 63.2 9.5 1.8
o Xt 3.0 16.9 56.4 22.8 0.9
< 8 3 4 >
e = 2.7 16.3 514 26.9 27
= =S 0.8 16.7 62.9 174 23
inl = 2.1 24.8 64.3 8.0 0.9
CH = 38 243 66.8 47 0.4
< FH o & >
o 2| x| 0.0 25.0 60.0 15.0 0.0
HE}E™ETL 59 212 67.1 59 0.0
At £ | 1.6 213 75.4 16 0.0
M H A gof A 2.8 19.9 65.2 116 06
s 8 = & A 1.7 19.7 59.8 16.2 26
NS 7N A=A 25 28.8 63.6 42 0.8
o> & 2O 24 214 53.6 20.2 24
27 3 F 2 39 16.4 50.7 276 13
7| E} 0.5 214 59.9 14.8 33
< g 24 I:é S
15 ~ 19 A 0.0 50.0 50.0 0.0 0.0
20 ~ 29 A 38 19.2 69.2 77 0.0
30 ~ 39 A 3.0 25.0 71.0 1.0 0.0
40 ~ 49 A 3.0 24.6 67.1 48 06
50 ~ 59 A 2.7 26.5 60.5 9.4 0.9
60 A o & 2.1 16.6 56.4 224 25
65 M o & 1.6 16.2 54.0 25.3 29
<HHMe ZERE>
5 5 F H 1.7 18.4 56.5 206 2.8
of o E 34 213 65.1 9.8 0.4
A B oF= o= 0.0 435 52.2 0.0 43
ot M of = &= 0.0 471 52.9 0.0 0.0
7| = 0.0 28.6 57.1 143 0.0
<7t HERAS>
100 g+ @ o @ 1.7 17.2 53.9 24.4 2.8
100~200 2t & O] gt 2.7 17.8 67.6 10.3 16
200~300 2+ Oj 2t 3.0 218 66.7 7.9 0.6
300~4002H O] 2t 1.5 228 66.2 8.8 0.7
400~5002t 9 O] 3t 13 36.7 57.0 5.1 0.0
500~600 2t O] 2t 8.1 243 62.2 5.4 0.0
600~700 2+ O] gt 0.0 38.5 61.5 0.0 0.0
700 gt @ o & 12.0 24.0 56.0 8.0 0.0
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e~
7. X0 et S0 F 9 o7

RHatd) | Xpabst

bl bt RN sta [ 7L

=4z s da o8 ' =) q M | Egs

St [ 290 | L | Gore |27 me | meo | an | see | mus| ael | 2

™ 20, - L 2 olere a2

20| | =0 gz | 229 | moy | xn |geo| as | 8 | 2

BRI | QR B oo | 5 120 | meo
2 0 1 5 91.0 90 1000 409 37 24.1 6.0 8.0 127 19 1.8 0.8
2 0 1 7| 93.2 6.8 1000 306 2.2 227 113 129 168 2.9 0.6 0.0
< X 9 &g >
A x| ol 977 23 1000 277 36 97 109 102 30.1 77 0.0 0.0
B X ol 874 126 1000 314 1.8 258 114 135 136 1.8 0.7 0.0
< M Ho
H XH 93.0 70 1000 353 1.8 200  13.1 17.6 94 2.7 0.0 0.0
o XH 935 65 1000 256 2.5 25.6 94 78 24.8 3.1 13 0.0
< % 8 2 >
= Z[ 921 79 1000 170 3.1 51.1 6.8 120  10.1 0.0 0.0 0.0
S Z| 940 60 1000 212 37 37.3 0.0 8.2 192 104 0.0 0.0
i Z[ 921 79 1000 452 0.0 9.0 117 144 147 36 14 0.0
cH Z| 950 50 1000 223 45 100 226 137 268 0.0 0.0 0.0
< 3 o & >
= 2| x| 934 66 1000 442 0.0 0.0 55.8 0.0 0.0 0.0 0.0 0.0
ME7=HE27H 9.9 3.1 1000 00 0.0 51.1 0.0 224 265 0.0 0.0 0.0
Al g2 x| 97.0 30 1000 613 0.0 0.0 0.0 0.0 38.7 0.0 0.0 0.0
M Hl & mOj | 935 65 1000  32.1 5.8 8.7 145 7.1 319 0.0 0.0 0.0
s & 5 4 ZF| %6 34 1000 00 0.0 436 564 0.0 0.0 0.0 0.0 0.0
s, 7| A=A )| 950 50 1000 610 0.0 16.9 0.0 9.8 123 0.0 0.0 0.0
oo & 2 X 891 109 1000 545 0.0 0.0 0.0 256 199 0.0 0.0 0.0
7283 F  F| 908 92 1000 230 43 373 6.6 5.8 20.8 0.0 2.2 0.0
7] Et| 91.9 8.1 1000 254 0.0 233 149 225 2.6 11.3 0.0 0.0
< g 24 [=:] >
15 ~ 19 M| 968 32 1000 00 0.0 0.0 0.0 0.0 00 1000 00 0.0
200 ~ 29 M| 891 109 1000  28.1 0.0 115 33.1 273 0.0 0.0 0.0 0.0
30 ~ 39 M| 934 66 1000 335 0.0 155 125 0.0 385 0.0 0.0 0.0
40 ~ 49 M| 928 72 1000 372 48 0.0 14.4 48 38.7 0.0 0.0 0.0
50 ~ 59 M| 952 48 1000 316 0.0 412 0.0 18.0 46 0.0 46 0.0
60 M O A 930 70 1000 282 40 42.6 1.8 14.1 9.2 0.0 0.0 0.0
65 M o A 928 72 1000 226 5.1 497 2.2 11.0 94 0.0 0.0 0.0
<7 KXo ERE>
o5 F=  HE| 915 85 1000 363 0.0 32.8 2.1 156 132 0.0 0.0 0.0
of o} E| 928 72 1000 319 2.1 162 125 148 225 0.0 0.0 0.0
o & Z= e 940 60 1000 1000 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ct Ml of = &4 949 5.1 1000 1000 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| EHl 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<7t YEALSS
100 g+ @ oOf 3 90.1 99 1000 252 29 43.4 8.8 11.9 7.8 0.0 0.0 0.0
100~200 2@ O] 2 859 141 1000  40.1 0.0 8.1 45 232 24.1 0.0 0.0 0.0
200~3002HQ O] gk 922 78 1000 500 0.0 5.2 145 112 190 0.0 0.0 0.0
300~400THR O] 8H 979 2.1 1000 57.0 0.0 0.0 0.0 0.0 43.0 0.0 0.0 0.0
400~5002H O] 2t 985 15 1000 0.0 00 1000 00 0.0 0.0 0.0 0.0 0.0
500~600 22 O/ 976 24 1000 00 0.0 0.0 0.0 00 1000 00 0.0 0.0
600~700 2t O] 2H 1000 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 °F @ O] & 1000 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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